MA - 1112

I.- Calcular las siguientes integral es indefinidas:

()f 7x+6

x2+3x

(4)f 3x —3x+4 x

4x2-4

( )f2(3x +4x3 x)d

x6+2x%—x2-2

x*—2x3+6x%-11x42
x3-3x2+2x

(10)

4x3-3x242x-3

(13) Z+naD@—2)

—-8x+4
x3— 4x2+4x 6

(16) [ =

(19) [ —2——dx

(x+1)2(x2+1)

x +3x+2
x(x2+1)

(22)

(25) J gz 0

(28) [ —=

sen x—Ccos x+2

cos x
1+2cosx

D) J e

dx

(2) J- x+10

x2—x— 2

(5) [ —24=) gy

(x—4)(x=2)(x+3)

8) [ e dx

x3-x2-2x

3x342x-3

(11) f_ 2(x2 1) dx

12x34+20x24+28x+4

(1 )f3(x2+2x+3)(x2+1) X

an [ _laxt2ax

(x2+1)(x2+2)

3x2-x+1
(x+1)(x24+2x+2)

(20) J
x4
(23) J oo

(2 ) f sen x

cosZx — cos3x

29) [ orrons

sen x+tanx

(32) J

cotx(6+7cost)

II.- Calcular las siguientes integrales definidas:
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